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] (N N ] @ Desktop — -bash — 144|
[>>> cd ~Desktop

. . » / . File "<python-input-95, 1ine 1
00 IDLE Shell 3.13.2 |  ©d ~Desktop
‘Python 3.13.2 (v3.13.2:4f8bb3947cf, Feb 4 2025, 11:! SyntaxError: invalid syntax
1500.3.9.4)] on darwin [>>> exit
Type "help", “copyright", "credits" or "license()" 1[iMac:~ jessicaali$ cd ~Desktop
e -bash: cd: ~Desktop: No such file or directory

[iMac:~ jessicaali$ cd ~/Desktop
[iMac:Desktop jessicaali$ python3 mod_inverse.py
o ’ 7
[iMac:Desktop jessicaali$ python3 mod_inverseJess.py

27 ,
_ ' . Sy - [iMac:Desktop jessicaali$ python3 mod_inverseJess.py
‘ : 27 -
i : [iMac:Desktop jessicaali$ python3 mod_inverseJess.py
| . 27

] | iMac:Desktop jessicaali$ []

000 ~ B mod_inverseJess.py

def egcd(a, b):
“if ‘b =0:
! return a,d%i 0 S
g, X, y = egcdlb, a
rétu;n g, ¥, x-(a// b) xy

e e ———

def mod_inverse(modulus, b):
g, x, _ = egcd(b, modulus)
if g != 1: ~ —
raise ValueError("Error Mod Inverse Does Not Exist")
return x % modulus

L print(mod_inverse(47, 7))

n
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